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xQR	kNOgSRT	Om	lRhRN]PaOh	]hj	R}aiPRhbR

bOhjaPaOhi	Om	gOPQ	S]NlR�ib]SR	oSPN]�SO`�mNR�

woRhbv	`]nv	iPNobPoNRi	]hj	S]NlR�ib]SR	nON�

PabRi	 ah	 PQR	 aOhOikQRNR	 ai	 bOhiajRNRj�	pOTR

R}]bP	 iOSoPaOhi	 Om	 T]lhRPOQvjNOjvh]Tab

Rwo]PaOhi	]NR	mOohj�	]hj	hR`	ahn]Na]hPi	]S�

SO`ahl	 PO	 NRnR]S	 lRhRN]PaOh	TRbQ]haiTi	Om

S]NlR�ib]SR	 nONPabRi	 ]hj	 kS]hRP]Nv	`]nRi	 ah

PQR	 aOhOikQRNR	ohjRN	 PQR	 RmmRbP	Om	hOhbOh�

iRNn]PanR	 yONaOSai	 ]hj	 eTkRNR	 mONbRi	 bOh�

iPNobPRj�	xQai	TRPQOj	iRRTi	PO	gR	aTkONP]hP

]hj	ONalah]S	ah	iOSnahl	PQR	TOiP	bOTkSab]PRj

hOhSahR]N	kNOgSRTi	Om	PQR	T]lhRPOQvjNOjv�

h]Tabi	 Om	 bOTkNRiiagSR�	 ahQOTOlRhROoi�

g]NObSahab	 Sawoaj	gRahl�	 ah	 PQR	lRhRN]S	b]iR�

ohjRN	hOh�bOhiRNn]PanR	mONbRi�	�hmONPoh]PR�

Sv�	 aP	 ai	 kOONSv	 _hO`h	 mON	 ]	 `ajR	 baNbSR	 Om

ahnRiPal]PONi	ah	T]lhRPOQvjNOjvh]Tabi	]hj

kS]iT]	kQviabi�


